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ATC Questionnaire

Jan. 20, 2016

Per the discussion held during the January 19, 2016 Transmission Load Service workshop and to help inform which alternatives BPA will further explore, please provide feedback on the below questions.  Please submit responses no later than close of business Wednesday February 3, 2016 to the TechForum@BPA.gov.  BPA plans to use your feedback to evaluate changes to the Long-Term (LT) Firm Available Transfer Capability (ATC) calculation process.

1. Which assumption do you prefer for the modeling of wind resources:

a. Contract or designated demand, not to exceed nameplate (this is status quo in BPA’s LT ATC Methodology and the preferred option at this time);

b. Contract or designated demand, not to exceed 60% of nameplate;

c. Historical peaks, capped by contract or designated demand; 

d. Capacity factors, capped by contract or designated demand; or 

e. Other? (Please describe)

2. Which assumption do you prefer for the modeling of non-wind non-Federal resources:

a. Contract or designated demand, capped by nameplate;

b. Historical peaks, capped by contract or designated demand; 

c. Contract or designated demand, capped by lower or nameplate or historical peak (this is status quo in BPA’s LT ATC Methodology and the preferred option at this time);

d. Merit order, per production cost models; or

e. Other? (Please describe)

3. BPA proposes to encumber ATC using a range of modeled FCRPS output which “stress” Upper Columbia output, Lower Columbia output, and Lower Snake output individually.

a. Do you believe stressing these groups of projects should be done by modeling each group at historical peak output, adjusted nameplate output (decreased to reflect expected generation outages), or nameplate output?  
(Below is an example of potential scenarios that could be run under each stressing model without altering the total FCRPS output.)
	Big 10 Generator/Group (August)
	2017 ATC Base Case
	Historical Maximum with Upper Columbia Stress
	Adjusted Nameplate with Lower Columbia Stress
	Nameplate with Lower Snake Stress

	Chief Joseph
	1,878
	2,262
	1,078
	1,344

	Coulee, Grand Total
	4,647
	5,941
	2,668
	3,325

	Upper Columbia Gen
	6,525
	8,203
	3,746
	4,669

	Bonneville
	483
	260
	1,002
	346

	Dalles, The 
	677
	364
	1,858
	484

	John Day G
	1,050
	565
	2,174
	751

	McNary Total
	593
	319
	901
	424

	Lower Columbia Gen
	2,803
	1,508
	5,935
	2,006

	Ice Harbor 
	138
	74
	79
	693

	Little Goose 
	252
	136
	145
	930

	Lower Granite 
	219
	118
	126
	930

	Lower Monumental 
	221
	119
	127
	930

	Lower Snake River Gen
	830
	447
	477
	3,483

	Total Modeled FCRPS Output
	10,158


b. If you have a different preference for FCRPS modelling, what would you suggest?

4. In order to achieve total load-resource balance in ATC base cases, should BPA decrease the modeled output of all resources pro rata?  If not, please describe your preferred method.

5. When several scenarios are run for a given season, with varying generation dispatch assumptions, which resulting ETC value should be used to determine ATC for each Flowgate?

a. The highest;

b. The median; 

c. The lowest; or

d. Other? (Please describe)

6. While BPA explores the impact and cost of modeling customers’ individual load growth, is the encumbrance of ATC for aggregate regional load growth is acceptable at this time?

7. To the extent multiple scenarios are run and the “highest of” isn’t used in ETC calculations, should the difference between the highest and the selected ETC value be used as a commercial uncertainty margin?  If not, what would you propose?

8. Should BPA not release an uncertainty margin, if used, to the shorter term Firm markets until such time as a process can be developed to determine how and when to release it (such margin would likely be released in the non-firm markets)?  If not, what would you propose?

9. Should BPA continue to encumber ATC for NT resource forecasts using PTDFs, rather than attempting to model such resources within ATC base cases?
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